04.02.21
WALT: Multiply a 2 digit numhber by 2 digits

Vocahulary check

multiplier 15 multiplicand
product X 2  multiplier

place value 3() product

distribhutive law



32 x 45 =
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What is the same? What is different?



40

50

53 x 41 =

53
X 4 1

What is the same? What is different?
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23 x 72 =

23
X 1 2

What is the same? What is different?



How would we find the answers for the missing hoxes’?

W x32 =
10 [ ]
30| 300 90 =390
2 20 6 =26
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Hinge Question

Use yowr preferred method of multiplication to
answer the question 23 x 65 =




Try It

Use yowr preferred method of multiplication to answer the
guestions. Remember to show yowr workings out.

28 X 45 =

11 x 43 =

62 x 34

22 x 86
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1) Identify the missing digits in these calculations.
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2) James has 36 hoxes af apples, each
hox contains 12 apples. How many
does he have altogether?

3) Lawra sells 15 cups of lemonade,
each cup contains 33ml af drink. How
much lemonade does she sell

altogether?

Prove Wb

Ll-) Eva says,

" To multiply 23 by 57 | just
need to calculate 20 X

b—\ﬁ /  5H0and 3 X 7 and then

=Y & add the totals.

What mistake has Eva made?
Explain your answer.

Amir has multiplied 47 by 36

@ X 3 6

2 8 2
1 4 1
3 2 3

Alex says,
| Amir is wrong because |
25) ) theanswershould be
1,692 not 323 |

Who is correct?
What mistake has been made?



